[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

trug tracks
Om
]

T
L

[fake tracks

N of associated (recoToSim) looper tracks vs normalized x*

=
o
S

duplicate tracks

] .
10 ; 10° 1
10%F
10 1
; ; o ; o o
. H T : 3 =
: 1l & i & &
R 1T 1 i
092 4 6 8 10 12 14 16 18 20 9T 6 8 1 16 18 20 o 10 12 14 16 18 2 o
track x2 track x2 track x2
AT F—traseroSet
[Worrecomackve ] —— BOM-eRE-tT1enan0dFIssHE 0858 sel =
2 i 2
& 8 &
=10°E Si0° S
(4] Q Q
i £ s §102
10°E % 10*k b 10%F =
e . =}
=}
10°k 10° 10°
s Nk
10 e 107 E 10°E *
10




	Contents
	Page 1


